EARAROBEEIERT — 2 N— IBISH —F

201355840 (+) 2m=%I3H

VR 755K N C B D O ER4% 5

C2 ¥7R—Mi&

jin

‘ [Riz] &

‘ [REBE] — | & (A) 140N FHE

[A~&E£] 1 7% :100,000  ~ 23%&:25000H  33#&:12,000H  43%:8,000H 53 :5,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N o — FREMER :33. —-2-1- . — MEEX (SH)
1 3 S—KSYZ 47 = 1(:53)4 2-2-1-1 | 40.7 3 <4+710) §§§$$
R:d—IWR7Ya2—b B:y—F—9— R IE
o . =l ES :33. -3-3- . — ITHER (FH)
5 6| 7 V=L —F H o4 =l 1(/:\3%1 2-3-3-1 | 40.8 2 :g;) A
R:Tq bhk—L B4 K57 E EE
— |LIFEE & : 56— — B (FH)
3 2| VTV H=T T i 1'(323)'8 ooes |08 ! fz o
L RFAd—-I R B:A—-T7F-Qr K> TADAS
BIRFE I : —4-5- — THER (FH)
a1l |¥yo7ooT it 6 i 1.(344).7 6-4-5-5 | 41.8 5 (4% o
R:T7NTSY BIHAFTY— J—HTp— L
KHERE :34. -6-4- . — MEEX (SH)
5077 Fr{FFy X 4 4 247)5 1(314)9 4-6-4-4 | 42.0 1 (4;5) agifg
RV KYIYRIZR BF v 4F R VER PR EIN
S o7 | BIE— 1:35.9 8-8-8-6 | 42.0 | — 6 536 | EHHTF (BH)
6155 AXEIIOAY 6. 5) 8) HABTF
L:T7HAFALTNN BAATTLyva ANERS
i 6 | BEERRAEE 1:36.2 5-7-7-8 | 42.9| — 8 458 | REA (&)
7 4 7¥/0-LJb 54.0 (11/2) -2) %”E‘:Iﬁfﬂ%
gy TELAVF— B:R—-IKFZXO =% e
= o 48 | WA 1:36.9 1-1-1-7 | 44.4| — 6 442 | RIFFEF ()
glglg| A—T A1 —hE- 252.0 @) (o) |18 = bF—T oy TRER
RG> ThI— BTNV T 7L %8 1ERB
® I —F—@EBIERL
1 S=7r= 8,(3,6),7,4,(1,2),5
Aol=5r= 8,3,6,1,2,7,4,5
30—F— (3,8),6,7,1,2,4,5
43—+ — (3,6),2,7,1,5,8,4
[ RN
B OB 3 350M 714K 3-6 220M B E 3-6 710M &R 2-3-6 620M
8 B 3 100M 2-3 240M B H 3-6 1,300 JEH 3-6-2 2,270
6 1004 2-6 160M
2 1009

ABICOVWTRDTEEERROODE. TR LIV,




